Problem 7.4

Determine the phase angles by which 
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Suggested Solution
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Then,


[image: image11.wmf](

)

1

vt

 leads 
[image: image12.wmf](

)

1

it

 by 
[image: image13.wmf](

)

(

)

651055

-°--°=-°



[image: image14.wmf](

)

1

vt

 leads 
[image: image15.wmf](

)

2

it

 by 
[image: image16.wmf](

)

(

)

651580

-°-°=-°


_1064689748.unknown

_1064689988.unknown

_1064690321.unknown

_1064690387.unknown

_1064690407.unknown

_1064690553.unknown

_1064690344.unknown

_1064690283.unknown

_1064690299.unknown

_1064690096.unknown

_1064689855.unknown

_1064689903.unknown

_1064689795.unknown

_1064689673.unknown

_1064689723.unknown

_1064689634.unknown

